10 9 8 7 6 5 4 3 2 1
PART No MATRIX: OPTIONS
MA12 FE WIRING DIAGRAM M12 MA
| | | | | | | | | | | | | | 1 BROWN
| | | | | | | D, WHITE L 11
88 = M12x1 _ | B _ 23 5
Double ended | | b Ocs: Heads style: Cable: Units: Dlugoscé/Length | H=2pcs. of I/D Carrier ) BLUE ]
4 = 4 Poles 032 _st ye.l Straiaht PNP|| S20 = 0.34mm? PVC Yellow | M = Meter 005=0.5m Coupling Nut: 3) 1 3
D Mels Shaiaht 010=1m Blank= KNU/HEX 43 BLACK —
J 020=2m 7=Teflon KNU J
050 =5 m Overmould:
128 _ 12 m Blank= Female head -
PNP WIRING - o2om clear
200 =20 m
Male head - yellow
1) + BROWN
4) BLACK
3) -BLUE
2) WHITE

>

NL+T0I. - SEE TABLE 1

—_ | -— p—
LQ T T e Te)
s . o | I
- e s| =
A
VIEW FROM THE FRONT SIDE (50) 12 VIEW FROM THE FRONT SIDE
BILL OF MATERIALS
13 |2 [/D CARRIER 6-10mmx30mm |PVC WHITE
12 |1 LABEL WRAP VINYL YELLOW
11 |1 MMC-PNP LED PCB - -
10 |1 |GASKET 1.7x1.35 FPM RED NOTES.
9 ! M12-COUPLING NUT FEMALE | TEFLON ' : 1. IF IN MATRIX IS "H" - ADD ID-CARRIERS ON THE BOTH SIDES HARNESS
8 4 CONTACT 10 FE BRONZE GOLD OVER NI-PLATED THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
7 1 |NSERT M12 FE 4P TPU BLACK om 151 ngJ;R’EE{NJC}El%\S/O%EgE OBSOLETED PART NUMBERS molex
6 1 M12-COUPLING NUT MALE | TEFLON Ni-PLATED e .
5 4 |CONTACT 10 MA BRONZE GOLD OVER Ni-PLATED TABLE 1 (UNLESS SPECIFIED)
ANGULARTOL # CSE 4P LED.PNP/MM
4 1 INSERT M12 MA 4P ELASTOLLAN | BLACK MOLEX PN | ENG. NO. L+To|.[mm] PLAGES EC NO: 662770 ST/ST-XXXM
* DRWN: SUGEEB 2021/02/25
3 MOULDING MATERIAL TPU NATURAL 1200678094 | 8840P6S20M020 | 2000 +89 | [sriaces |- CHKD: GGA 2024/06/02
2 MOULDING MATERIAL TPU YELLOW 1200678179] 8840P6S20M006 | 600 +45 | [zPaces |- AR e o L —
1 - CABLE;YEL;DC:4X0.34MM PVC YELLOW 1200678190 | 8840P6S20M020H | 2000 +89 | .PHAE I DRWN: MKOWALCZYKO1 2018/08/22
OPLACES | APPR: MIWASIECZKO 2018/08/23 1200678316 PSD| 000 | A1
ITEM|QTY | DESCRIPTION MATERIAL FINISH/COLOR 1200678316 | 8840P6S20MO010H | 1000 +56 DRAFT WHERE APPLICABLE THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS| P1 | RELEASE DATE | 2021/06/02  05:44:47 | 1200678411 | 8840P6S20MO06H | 600 +45 A @ 3 |A3-SIZE| 120067 | SEETABLE | GENERALMARKET | 1OF 1
9 8 7 6 5 4 3 2 1

DATE: 2020/01/14



